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L2=1.0;
for t=0:0.1:%pi,
thetal = t; //BHEA 1 DB E

theta2 = t*2;//RBAE2D A&
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x1=L1* cos(thetal);
y1 =11 *sin(thetal);
x2 = x1 + L2 * cos(thetal+theta2)
y2 =yl + L2 * sin(thetal+theta2);

armX = [0,x1,x2]; //BA & D xEEAR
army = [0,y1,y2]; //BAET Dy EE

plot(armX,armY,0-"); //4& 1]
sleep(100); //100msfAd> /
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L1=1.0; /AT IZIEFRT1IR
L2=1.0; x1 = L1 * cos(thetal);

y1=L1 *sin(thetal);
for t=0:0.1:2*%pi,
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x2 = 1+0.5%cos(t);
y2 = 0.5*sin(t);

x2 =x1+ L2 * cos(thetal+theta2);
y2 =yl + L2 *sin(thetal+theta2);
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armX = [0,x1,x2]; /B &I DxEFZ
armY = [0,y1,y2]; //BAEI DyERE
square(-2.5,-2.5,2.5,2.5);
plot(armX,armY,'0-'); //44E
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